DASH % PREMADE ROOF RACK
INSTALLATION INSTRUCTIONS
T 1 TN

[ ] [ [T

1
%5

PLATFORM
ol

B m—_/
DASH
\-———J | S
X2 ROOF RAILS

C— WIND DEFLECTOR @ @

X2 AWNING BRACKETS

X12 M10X20 T BOLT (==\ X15 M8 SLIDING BLOCK

X12 M10 NYLON SELF-LOCKING NUT X12 M8 25MM BOLT

X12 10X2MM SPACER X12 M8 SPRING CUSHION

X10 M8 20MM SLIDING BLOCK

X12 8X25X3MM RUBBER SPACER o X12 8X16 SPACER

X6 M8 12MM HEX HEAD BOLTS

000 =

www.DASHOffRoad.com.au PAGE10f 5



DASH % ROOF RACK
INSTALLATION INSTRUCTIONS

Step 1 Step 2
Before installing the roof rails you need to remove Place the wind deflector in place ensuring it is
the plastic cover from the trim on your Patrol. facing backwards and align the 4 nut inserts with

the holes in the wind deflector

Use the 5 M8 Hex Head 12mm Bolts

www.DASHOffRoad.com.au PAGE20f 5



DASH % ROOF RACK
INSTALLATION INSTRUCTIONS

Step 3 Step 4
From under the plastic cover remove the two white  If required, clean the roof channel to remove any
screw plugs. dust/dirt.

Step 5 - TIL Models only Step 6 - TIL Models only

TIL Models will need the cover over the centre Cut with a small reciprocating saw or small grinder.
mounting point trimmed. Place the rail in position This will expose a white cover over the second

to determine and mark how much to trim. mounting hole. Remove the second cover.




DASH % ROOF RACK
INSTALLATION INSTRUCTIONS

Step 7

Place the 8x25mm rubber washers onto each of the
bolt holes. We recommend you add silicone under
each of these washers for additional sealing.

Step 8
Add some silicone to the bolt holes and silicone
inside the white cap to seal it up.

Step 9

To bolt the roof rails down use the M8x25mm
Stainless Steel Bolt with one 8x16mm washer.
Apply some silicone to the thread of the bolt to
ensure that the holes in the roof channel are
waterproof when the bolt is in and tightened.

Step 10

Put the roof rails in place. Start with the bolts in the
centre mount, then the front mount, and finally the
back mount. Put all bolts in finger tight first before
fully tightening.

PAGE4 of 5




DASH % ROOF RACK
INSTALLATION INSTRUCTIONS

Step 11
Place slide nuts into platform rails

Step 12
Attach to roof rails using the M12 self locking Bolts.

This step will require a minimum 2 people.




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5

